N = 0l & AF & F Al A

SN 2L
o HAPAZN EX
ol MR EX LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
2HA 6,657,499 5,964,927 692,572
= 2,160,719
AlHI 2,961,118
T4l 1,535,662
AEASR S 2,038,388 1,940,713 97,675
= 315,096
AlHI 1,723,292
HaE2AH S 2,038,388 1,940,713 97,675
= 315,096
AlHI 1,723,292
FAQLAAIL Ml X2 350, 107 311,258 38,849
= 315,096
AlLHI 35,011
307 QI2t0IA 350,107 311,258 38,849
= 315,096
AlHI 35,011
02 QltF&E=X 350, 107 311,258 38,849
OFAQAAIL MAHZO 350, 07,0002 350, 107
= 315,096
AlBI 35,011
FAURAAE 2HH X 1,688,281 1,629,455 58,826
AlHI 1,688,281
307 QI2t0I A 1,688,281 1,629,455 58,826
AlHI 1,688,281
02 QtFAE X 1,688,281 1,629,455 58,826
OZURAAIE 2FHl X&
1,688,281,000& 1,688,281
AlHI 1,688,281
grAy s 4,326,081 3,751,852 574,229
= 1,845,623
AlHI 1,237,826
-4l 1,242,632
o= MHIA et 3,671,713 3,107,104 564,609
= 1,845,623
AlHI 1,209,026




12 E3
M k)
HH . (3 H) - MBEAY - B gggf; HRS2
qH| A SkA 2l 617,064
H2A XOIEHIKDI 4,896 4,866 30
= 2,448
2l 2,448
201 B2 HH| 2,448 2,433 15
= 1,224
2| 1,224
AF2 22| Hi 2,448 2,433 15
OB2A X009 AFH 2,448,000 2,448
= 1,224
sl 1,224
307 QIZ2tolA 2,448 2,433 15
=2 1,224
2l 1,224
S = 2,448 2,433 15
O8dA XI0tEH<I AP 2,448,000 2,448
= 1,224
sl 1,224
Xl Ot I 2| 18,120 33,480 A 15,360
= 9,060
Tt 9,060
307 Q20| A 18,120 33,480 A 15,360
= 9,060
Tt 9,060
olz¥FEH| 18,120 33,480 15,360
OO0zt XIOtEHS 1 At 18,120,000& 18,120
= 9,060
! 9,060
& 83,250 49,700 33,550
= 41,625
Tt 41,625
307 QIZtolA 83,250 49,700 33,550
= 41,625
Tt 41,625
olz¥REH| 83,250 49,700 33,550




SA
X XH .
(=

chel:

SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
OLol(Zofel) A2 22 80,450,000 80,450
= 40,225
ul 40,225
O (HOHQ) F2Ad AtZ2el
2,800,000& 2,800
= 1,400
aul 1,400
NS ALHEINE ALS 52,250 57,000 AN4,750
= 26,125
AlHI 13,063
4l 13,062
101 ol t| 18,000 19,000 A 1,000
= 9,000
Altl 4,500
el 4,500
10 JIZHH22sSEs 18,000 19,000 A 1,000
OXSAES HLHEIHMLAS JI2tH2E At
18,000, 000& 18,000
= 9,000
AlHI 4,500
- dl 4,500
201 LBH2HH| 26,350 30,000 A 3,650
= 13,175
AlHl 6,588
4| 6,587
01 At 2eld] 23,350 30,000 26,650
ONHSs HLHEHAADY 2
23,350,000& 23,350
= 11,675
AlHI 5,838
=4l 5,837
03 EAI2ZH| 3,000 0 3,000
OAtotAZ =AM AN 3,000, 000& 3,000
= 1,500
AlHI 750
-l 750
202 O4Hl 2,000 2,000 0




SN EAA
M RoAHY S
CHl: Q[ ZAIHIA SHAL (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
202 O4H| = 1,000
Al H] 500
sl 500
01 =ZWoib] 2,000 2,000 0
OXNEES HUMENIHAAIS SE Y|
2,000,000& 2,000
= 1,000
AlH] 500
sl 500
203 YRFEH| 2,000 2,000 0
= 1,000
AlH] 500
Tt 500
03 ABMF=XAIFZRIHI 2,000 2,000 0
OXNHEs HLHEHLAY AIBER
2,000,000& 2,000
= 1,000
Al 500
=l 500
301 et Aa= 1,900 2,000 A 100
= 950
Al H] 475
! 475
10 SAIAHIBAZ 400 0 400
OAMGIAZ =M ZOLAH A 24 400,000& 400
2 200
AlHl 100
! 100
12 JIEIE A2 1,500 2,000 A500
OXNYEEst HAZHENINA 1,500,000& 1,500
2 750
AlBl 375
2 Hl 375
405 RAHAHS SHI 2,000 2,000 0
= 1,000
AlHI 500

T4l 500




SN B
M RoAHY S
o9 o2 MHIA B Rk
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
01 L ESFHSHI 2,000 2,000 0
OXNGEES HLHEHINAAMNE 22 7
2,000,000& 2,000
=2 1,000
AlHl 500
! 500
=022y 29 176,060 186,000 9,940
= 88,030
Al H] 88,030
101 Q14| 70,000 75,000 A5,000
= 35,000
AlH] 35,000
10 JIZHZ22XANsSES 70,000 75,000 25,000
O=2d2clY 2<% JI2t=22 X
70,000,000& 70,000
= 35,000
AlHl 35,000
201 LErEAH| 53,560 36,800 16,760
= 26,780
Al H] 26,780
01 AtR22id] 43,560 31,800 11,760
O2dZ22eY 29 43,560,000& 43,560
- 21,780
AlHl 21,780
03 #AI2HHI 10,000 5,000 5,000
O=d2clY AN WA 10,000,000 10,000
2 5,000
Aldl 5,000
202 O4Hl 2,500 2,500 0
= 1,250
Al H] 1,250
01 =2WAbI 2,500 2,500 0
O32d22lY &0 2,500,000& 2,500
= 1,250
AlHl 1,250
203 ERF=&XH| 2,000 2,000 0




SN BAL
HE: [0IAHY S
CHol: o2 AHIA BHA k)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

203 AREXY| 2 1,000
Al 1,000

038 AEFZALFZY| 2,000 2,000 0
SELECIEINEES 2,000,000 2,000
2 1,000
Al 1,000

01 YurBAZ 5,000 3,700 1,300
= 2,500
Al 2,500

12 JlErEaa 5,000 3,700 1,300
OSHLBI 24 5,000,002 5,000
2 2,500
Al 2,500

307 eI2to|H 40,000 60,000 20,000
= 20,000
Al 20,000

NEECEET 40,000 60,000 20,000
Oz¢22ld 2XH P 40,000,0002 40,000
2 20,000
Al 20,000

405 THEFH S 3,000 6,000 A3,000
= 1,500
Al 1,500

01 KHAYSEFHSH] 3,000 6,000 23,000
Oz¢2eld 29 I 7 3,000,000 3,000
2 1,500
Al 1,500

SIALXLSREN vyl X 844,584 703,820 140,764
= 422,292
Al 422,292

307 21201 H 844,584 703,820 140,764
= 422,292
Al 422,292

NEEEREET 844,584 703,820 140,764
O3 ALX ST 22| 844,584, 0002 844,584




SN AL
o 20IAY B
ol O ZMHIA B CREE))
RA B SA(BH) - NRAY - B 01 e HRE2
= 422,292
Al 422,292
N0 AYB AL 2,909 5,833 A2,924
2 1,455
Al 727
2t 727
201 sy 2,659 5,593 A2,934
2 1,329
Al 665
2t 665
01 A= 2ell 2,659 5,593 2,934
oRR+s23edY AYLY 2,659,000%! 2,659
2 1,329
Al 665
24| 665
203 YREIY] 250 240 10
2 126
Al 62
2t 62
038 AZENYLFAY| 250 240 10
SI-EER-E LININETES 250,0002! 250
2 126
ALt 62
2t 62
AN QU OFS AL 2 55,572 23,970 31,602
2 27,786
Al 13,893
2t 3,893
307 212H0IH 55,572 17,920 37,652
2 27,786
Al 13,893
2t 13,893
UREEEEET] 50,312 17,920 32,392
OYus X 7Y 50,312, 0002 50,312
2 25,156




SN RAL
M RoAHY S
o9 o2 MHIA B (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AlH] 12,578
sl 12,578
05 QIZIRE= 5,260 0 5,260
Oz 2AHE2H=F H& 5,260,000& 5,260
= 2,630
AlHl 1,315
2 Hl 1,315
AR AMOF =201 K& AFS 150,941 140, 155 10,786
= 120,753
Al H] 15,094
sl 15,094
307 QIZt0IA 150,941 65,423 85,518
= 120,753
Al H] 15,094
2| 15,094
05 QIZIFE= 150,941 65,423 85,518
OArR2 - MMOIE20] K& ALY
150,941,000& 150,941
= 120,753
AlH] 15,094
sl 15,094
FHAZHA ALY 97,180 0 97,180
= 48,590
AlH] 24,295
2| 24,295
101 Q14| 19,500 0 19,500
= 9,750
AlH] 4,875
24| 4,875
10 JIZHZ22XNEES 19,500 0 19,500
O & R0t SAEHAAMY IJ|2HA
22X 19,500,000& 19,500
= 9,750
AlHl 4,875
2 Hl 4,875

201 LEHR | 5,500 0 5,500




SH: AL
M [0IAY S
CHol: OB AHIA B (9l &8
SN-EHH S (3H) - HEAY - BES Ofl &t o glggi; Hnz2
201 ereoty| = 2,750
AlHI 1,375
2l 1,375
01 AFRZelt] 5,500 0 5,500
OYME o R0t FYTA AYSY
5,500,000 5,500
2 2,750
Al 1,375
2| 1,375
202 Ofl 500 0 500
= 250
Al 125
2| 125
01 =LHoitl 500 0 500
OYAE o R0 YABHAAY SHO
bl 500,000% 500
2 250
Al 125
2| 125
307 BI2tOIH 71,680 0 71,680
= 35,840
Al 17,920
2| 7,920
NEEEEET 70,680 0 70,680
OYUBEAE g 70,680,000 70,680
2 35,340
Al 17,670
2| 17,670
05 BI2ASIES 1,000 0 1,000
OZEYN ¥ JAM DS 1,000,0002! 1,000
2 500
Al 250
2l 250
SES AOIY ZA % otz 55,793 63,989 £8,196
= 27,897
Al 13,948




SN RAL
M RoAHY S
CHl: Q[ ZAIHIA SHAL (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SES HAIOI A 2 AF & &0oF2te 2l 13,948
307 QI2tolA 55,793 63,989 N 8,196
= 27,897
Al H] 13,948
2| 13,948
01 9= R=H| 55,793 63,989 A8,196
O&HES HAIOIA ZAF & EHotel
55,793,000& 55,793
= 27,897
AlHl 13,948
2 Hl 13,948
D=0l ¥ A&AH0lA0F 2= H| A 82,619 65,031 17,588
= 41,309
AlH] 20,655
2l 20,655
307 QIZtolA 82,619 65,031 17,588
= 41,309
Al H] 20,655
sl 20,655
01 =L F=H| 82,619 65,031 17,588
O0l=0t & dAH0l&0F 2l=Hl K&
82,619,000& 82,619
= 41,309
AlH] 20,655
sl 20,655
g - R0t HALHEEALY 7,790 8,032 N242
= 6,456
AlH] 1,334
201 B2 531 260 271
2 425
AlHI 106
01 ArR2t2|tl 531 260 271
OY% - R0t A28 =8 531,000& 531
= 425
AlH] 106
307 QIZtolA 7,259 7,772 A513




SN RAL
B P02 B
o9 o2 MHIA B (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
307 2IZ2t0lA = 6,031
AlHI 1,228
05 QIZtEZ 7,259 0 7,259
Og - RO 223 & 6, 140,000& 6,140
= 4,912
AlHI 1,228
OZ - |0t AZHE JRE 1,119,000 1,119
= 1,119
SO HEED| A 6,560 0 6,560
= 3,280
AlHI 1,640
el 1,640
201 Let3| 500 0 500
= 250
AlHI 125
24| 125
01 AtR2teltl 500 0 500
Ot MOt 32 dEHAL EE 500,000 500
= 250
AlHI 125
el 125
307 2IZ2t0lA 6,060 0 6,060
= 3,030
AlHl 1,515
2| 1,515
01 Az HP2Z=H| 6,060 0 6,060
O&lM0oF B2 dEZA 6,060, 000& 6,060
= 3,030
AlHI 1,515
el 1,515
2RI HE A 340,348 395, 198 254,850
= 170,174
AlHI 170,174
101 ol t| 13,600 13,600 0
= 6,800




SN AL
M [0IAY S
CHol: OB AHIA B (S5l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
101 Q12| Al 6,800
10 JAMIENSES 13,600 13,600 0
OYEINZTAY JIAH2 2R
13,600, 00021 13,600
2 6,800
ALt 6,800
201 syl 2,000 2,000 0
= 1,000
Al 1,000
01 AfRaelt] 2,000 2,000 0
OLEINATANY 29 2,000,000 2,000
2 1,000
Al 1,000
203 YREIY] 300 500 A200
= 150
Al 150
CIEEEEESTY 300 500 200
OLEIN AT ALY AlBET 300, 00024 300
2 150
Al 150
307 eI2t0|H 304,448 379,008 54,650
= 162,224
Al 162,224
05 LISE3 324,448 0 324,448
O EIIAFAIY 2T O
324,448,0002 324,448
2 162,224
ALt 162,224
o & xtol 2| X 599,464 484,507 114,937
= 299,732
Al 149,866
2| 149,866
307 eI2t0IH 599,464 484,527 114,937
= 299,732
Al 149,866
2l 149,866




SA
X XH .
(=

chel:

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
01 2AzHR2Z=H| 599,464 484,527 114,937
Ogeti ojzdl A& 599, 464,000& 599,464
= 299,732
AlHI 149,866
-4l 149,866
QA HMALRA JIZ2HHZ2Z2 A 8,000 8,000 0
AlHI 4,000
el 4,000
101 Q2| 8,000 8,000 0
AlHI 4,000
-l 4,000
10 JIZtH22AAsSE* 8,000 8,000 0
OgzelAtgd daP J|I2HHZ22 Xt
8,000,000& 8,000
AlHI 4,000
-4l 4,000
MO M D] AL &AL 14,227 16,915 A2,688
= 11,387
AlHI 2,840
201 Let3| 328 228 100
=2 262
AlHI 66
01 At 2eld] 328 228 100
QUMD ALTHAIY EE 328,000& 328
= 262
AlHI 66
307 QIZt0IA 13,899 16,687 A2,788
= 11,125
AlHl 2,774
01 dz2+=4| 859 16,687 215,828
OHlFHEEAE A2HE ALY H&H K=
859,000& 859
= 689
AlBI 170
05 CIZtREZ 13,040 0 13,040




SA
X XH .
(=

chel:

K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
OMIHNE)| HBXCH AFY AXH| OlE
13,040,000 13,040
= 10,436
AlH] 2,604
ULL2 X3 AL 173,440 177,412 N3,972
= 86,720
AlH] 43,360
sl 43,360
101 Q14| 9,300 4,500 4,800
= 4,650
Al H] 2,325
2l 2,305
10 JIZtHIZ2E2XNSES 9,300 4,500 4,800
OZYLLTAAY JAR22X
9,300,000 9,300
= 4,650
AlH] 2,325
sl 2,325
307 2I2tolA 164, 140 172,912 N8B,772
= 82,070
AlHI 41,035
Tt 41,035
01 2z R=H| 164, 140 172,912 N8, 772
OMAL=HEAI=Hl XA 164, 140,000& 164, 140
=2 82,070
AlBl 41,035
i 41,035
SE2AH(AIHl) A 41,308 39,663 1,645
AlH] 12,393
ksl 28,915
201 B2y 9,000 10,000 A 1,000
AlHI 2,700
Tt 6,300
01 AtR22ld| 9,000 10,000 21,000
OUET Al BE2EAHAIY 29 9,000,000& 9,000
AlHl 2,700




SN RAL
2048 S
CHl: Q[ ZAIHIA SHAL (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
- dl 6,300
202 O4Hl 2,000 2,000 0
AlHI 600
-l 1,400
01 SLHAHbI 2,000 2,000 0
OUZAl 2ZE2HAMS S0
2,000,000& 2,000
AlHI 600
I 1,400
203 YRFL&H| 1,000 663 337
AlHI 300
-l 700
03 AIMFAAHR =LY 1,000 663 337
OUEA L2EAHAMT AIHFZ
1,000,000 1,000
AlHI 300
-l 700
301 YotEa= 4,000 5,000 21,000
AlHI 1,200
-l 2,800
12 JIEI2 A3 4,000 5,000 21,000
OUZAl L222A0AMF NFSAA &=t
4,000,000& 4,000
AlBI 1,200
-4l 2,800
307 QIZt0IA 21,208 18,100 3,108
AlHI 6,363
4l 14,845
01 dz2+Z4| 21,208 18,100 3,108
OUEZAl S222AMY 98 425 FY
21,208,000& 21,208
AlHI 6,363
-l 14,845
405 KHaHFE S| 4,100 3,900 200
AlHI 1,230
4l 2,870
01 L ESHSHI 4,100 3,900 200




SN BAL
o 20IAY B
ol O ZMHIA B (50 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
OUTAl 222N 25 29
4,100,0002! 4,100
Al 1,230
24| 2,870
UEY Y2ABBL A 283,560 370,560 87,000
= 141,780
Al 71,190
2t 70,590
101 eIty 282,360 369,360 87,000
= 141,180
Al 70,590
2t 70,590
P EES = 282,360 369,360 87,000
OLESY g2RAVAMY JVH22 X
282,360, 000! 282,360
2 141,180
Al 70,590
24| 70,590
201 Ler2y| 1,200 1,200 0
= 600
Al 600
01 A= ell 1,200 1,200 0
OXESAR DS 1,200,0002 1,200
2 600
Al 600
TWOL R 22l At 18,020 24,311 A6,291
= 9,010
Al 4,505
2t 4,505
307 eI2t0IH 18,020 24,311 26,291
= 9,010
AlHI 4,505
2t 4,505
NEEEEEET] 18,020 24,311 26,291
ONMIILET 22 22 X8 18,020, 0002 18,020
2 9,010




SN AL
o 20IAY B
Sl o2 MHIA Bat (S5l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ HusZ
Al 4,505
24| 4,505
HECPH)| X 1,250 1,250 0
Al 1,250
307 21201 1,250 1,250 0
Al 1,250
TEEREET 1,250 1,250 0
OUELEHI| N 1,250,002 1,250
ALt 1,250
AL SHE 29 5,000 5,000 0
Al 5,000
201 Yereg) 1,500 1,000 500
Al 1,500
R 1,500 1,000 500
OXIHASHEH2Y 1,500,002 1,500
ALt 1,500
307 21201 3,500 4,000 AB500
Al 3,500
SEEEEEET] 3,500 4,000 A500
OXIHAEME 22 425 2
3,500,0002! 3,500
ALt 3,500
AdEnIE gz 6.000 4,754 1,246
2 3,000
2t 3,000
201 Yeregt) 2,600 3,254 A654
2 1,300
2t 1,300
01 AFR22lt] 2,600 3,254 ~654
OdsEaTs Hgne 2 2,600,000%! 2,600
2 1,300
24| 1,300
202 Ol 400 0 400
2 200
2t 200
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SN EAL
M oA S
o9 o2 MHIA B (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
- dl 19,584
HYES(LSH )AL 200,504 146,500 54,004
= 100, 252
AlHl 50,126
-l 50,126
307 glzZtold 200,504 146,500 54,004
= 100,252
AlHI 50,126
24| 50,126
01 =¥ F =l 200,504 146,500 54,004
OWBEB(BAHL AZHI) At
200,504 ,000& 200,504
= 100,252
AlHI 50, 126
el 50, 126
HEEESELMH 2 19,825 19,500 325
= 9,912
AlHI 9,913
101 el t| 19,825 19,500 325
= 9,912
AlHl 9,913
10 JIZtHZ2Z2NSEs 19,825 19,500 325
OHYEESSELUH JI2NZZ2 A
19,825,000& 19,825
= 9,912
AlHl 9,913
HYES(HoA) A 235,552 0 235,552
= 117,776
AlHI 58,888
-l 58,888
307 gQiz2tolA 235,552 0 235,552
= 117,776
AlHl 58,888
-l 58,888
01 Az P2 ZH| 235,552 0 235,552
@)= EIECFSES 235,552,000& 235,552




SA
X XH .
(=

chel:

o4H

A4
0124 Z
EVES,

_ _ _ Muo
SA B HRA(SH) - MRAY - B O & o4 e SImE=ET
= 117,776
AlBI 58,888
el 58,888
I ESCIEELT 5,080 5,080 0
= 2,540
AlHI 2,540
307 QI2t0IA 5,080 5,080 0
= 2,540
AlHI 2,540
01 g2+ =l 5,080 5,080 0
OgdgaueAlef 2 1,980,000& 1,980
= 990
AlHI 990
OWIOI =& EFAIF 2 3,100,000& 3,100
= 1,550
AlBI 1,550
SEAFEA MEHAS 13,300 0 13,300
= 6,650
AlHI 6,650
307 QIt0IA 13,300 0 13,300
= 6,650
AlHI 6,650
01 2+ =l 13,300 0 13,300
O&E XAl 20K 13,300,000& 13,300
= 6,650
AlHI 6,650
sz 29 16,443 14,588 1,855
101 Q12| 13,483 13,488 Ab
10 JIZAH22ASES 13,483 13,488 Ab
OO0lsEelX=d JI2tH22 Xt 13,483
- IR 55,0002 x1H 180! 9,900
N 55,000% 1 +36 1,980
- A Xt 55,0003 »1H+9< 495
- S0UAZFEE RES 12,375,000 4. 5% 557




22
J2

20
B
2

12,375,000 *1.3%

12,375,000 *0.5%

12,375,000& *2.54%

315,000 *4.05%

62

315

500

500

500,000

500

500

500

700

600

100

15,0002 * 1504
25,0003 154

10,0002 =104

700

700

225

375

100

600

100

1,760

1,760

660,000 1 CH

—_

, 100,000 = 1CH

1,760
1,760
660

1,100

1,760

11,340

12,330

A 990

6,550

5,000

1,550

100& =1,0000H

) oL EAM
300& =4, 0000H

2,500& =100

100,000& 322!

o 100,000& 63!

OIAH X2

1,000, 000& = 1CH

5,350

1,550

100

1,200
250

3,800
3,200
600

1,200

1,000

4,000

1,000

1,350

200




SN AL
o 20IAY B
ol O ZMHIA B (S5l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SERENRS EESIETE!
200, 00024 +1CH 200
307 2120l 4,790 7,330 A2,540
NEEEEEET] 4,790 7,330 A2,540
ORNLAAY A2SE 2 790
LY AE A 20,0002 +5 100
CZST Bl 20,0002 +55 100
 ZST} 25 110,00021 35 330
C = A 6.0002*10S 60
- DO EN T 20,0002 +5 100
L DUHRH AHK 25,0002 %4} 100
O% - R0t YA P 8,000 5005 4,000
2 2AL 2| U-Health = 1,360 0 1,360
Al 1,360
307 21201 H 1,360 0 1,360
Al 1,360
VECEIEPEES 1,360 0 1,360
OYeAABel U-Health = 1,360,002 1,360
Al 1,360
Mg 189,479 171,385 18,004
Al 28,800
2t 160,679
NE=EEEE 28,800 0 28,800
Al 28,800
206 MEHI 28,800 0 28,800
Al 28,800
01 W=l 28,800 0 28,800
OS FoXsgss N 28,800,000%! 28,800
ALt 28,800
TEPNRS 153,842 164,605 £10,763
101 Q21| 61,185 62,195 A1,010
10 JAHIERSE 61,185 62,195 A1,010
Ogel JIAHIER 61,185
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N EE - SI(3) - HEAY - BES sk Soe B RS2
el = 41,920 x7H 150 44,016
- =Xt 41,9203 x7H 30 8,804
- A Xt 41,920 +x7H+7 2,055
=4ld| 5,000 *7H 40 1,400
SH=zEE 54,875,000 *4.5% 2,470
ngsg !¢ 54,875,000% *1.3% 714
MHEE Y 54,875,000& *0.5% 275
ELEENCE
54,875,000 *2.54% 1,394
CAFIQUYRE 2L
1,394,000& *4.05% 57
201 Lt 6,605 1,900 4,705
01 AtR2teld 3,605 1,900 1,705
ogdole E5& 50,000% +7 & x23] 700
Oogdxtg 28 7,000& «1H 402 280
OgHolR 2tAl 2,500 x7HE 150 2,625
02 2324l 3,000 0 3,000
OgAEH "2 3,000,000& 3,000
206 THZ=Hl 85,052 100,510 A~ 15,458
01 MZ 4l 85,052 100,510 A 15,458
Oxtg A= 15,313
AXE 30,000& =1.6L+802 3,840
ER 1,4773 *4%802] 473
3R 1,375& % 100L*803] 11,000
OFlE A= 6,152
A4S 30, 000& *0.04L*5003] 600
LR 1,4773 % 1L*5002] 739
ad= 1,375& *71+5003] 4,813
Oxtg S8R 17,087
uLver s 30,0003 *1.5L%1203] 5,400
uvslg = 1,4773 %2Lx1202] 355

30,000& #3L* 1202

10,800
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Os Foxsyels N 14,600
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=S 55,00021 * 1% +8! 440
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OFAN NESREFES 470,000& x 13l 470
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OFAMN & - HEE ZAIIAS
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OEd4 HREXNE S 2 16,339
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Ol&gE)| FANE= 1,300, 000& 1,300
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Oagortd &3l 84,000 84
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SE(EE) 115,000 *2CH 230
st2(2E) 63,0002 = 1CH 63
3I2(5E) 130,000 = 1CH 130
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SN BAL
HE: [0IAY S
el 2L 29 (25l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
RSP 4002 %4002 160
RS LB 1,3002 %302 39
SR A AN 55021 %3002 165
O=E%I| 22| 1,080
=R Pl 65,0002 * 122 780
z0l12 7Y 25,0002 122 300
OstZag EH 7Y 50,0002 * 122 600
2B B 349,805 352,488 A2,683
101 Q12| 9,709 0 9,709
10 JIAN22ASES 9,709 0 9,709
OFA AL JIAR2 2T 9,709
ol 55,0002 12§ » 1302 7,150
=7t 55,0002 *12§ x262 1,430
XY 55,0002 12 x62 330
2oioagE 2y 8,910,000 *4,5% 401
1828 293 8,910,0002 *1.3% 116
AR 23 8,910, 0002 +0.5% 45
20IAYLE LY 8,910,000 2.54% 227
CoFIeYRs 22
227,0002 4. 05% 10
201 Lsre | 24,826 13,526 1,300
01 AtR22lt] 15,316 7,126 8,190
OXH MZMY =3 18,0002 *43| x32 216
OmJIE el 6,700
92 HII2 2,500 %200kg+ 122 6,000
AN B 350,0002 x23| 700
OFASAMOIDRAF| 50| & A 2T
70,0002 ¥10 %23 1,400
OFASANTAG| 50| &4
70,0002 * 102 *103] 7,000
0 B2 9,510 6,400 3,110
OX& BHIRX 5,000
SCCIEE-5] 1,000,0002 1,000




SA EAA
Za: 2oL Z3
Crol: B4 2o (Er9: &)
SA-BH - OA(B) - HRAY - BE2 O &t 04 e S[imE=Fh
SVRETEST 2,000,000 2,000
- E2ES A 2,000,000& 2,000
OYAS SMTF| FIIZAL 510
CXE A 2HE D) 180, 000& »2CH 360
AR XE ZAEX 150,000 * 1 CH 150
OAMNEH 282X 4,000
1S ZAEHI 1,000,000& 1CH 1,000
CANTE 22 W AEOEL
3,000,000& 3,000
307 gIz2tol& 307,770 322,522 AN14,752
01 A== 307,770 322,522 AN 14,752
OBNTE oF 7 4,240
-HERENE AUE 3,600 x100 »43] 1,440
AEA HHIAS 300,000 300
PN FSE=aRS 2,500,000& 2,500
OYAE BE Y 9,215
- AE 85,0003 302 A 2,550
- HE 59,000& 1002 5,900
- Aol 55,0003 #92t A 495
SESESRU 30,0003 98t A 270
OMYUEES oF A 222,763
- BE2HE (THE!) 5,500& *2,000H 11,000
B2 (£01) 2,75021+2502] 688
=eld EEEZ 7,900& x50 395
CBEIEA 4,90021 %1, 2002 5,880
- QISR 8,000& *25,000& 200,000
Y25 3,200& +1,500H 4,800
OHYUEZA A2E g 1,100
12 E F A 110& 6, 0007H 660
- LES 4,400&*100= Xl 440
ogatgelAles 2 69,190
hA A 2,020
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A 0IAY B
9 P 2o (el al
SA-E . S(E) - MEAY - BES 0 & 24 e SImE=ET

B2t 1,000&+1,500A 1,500

caztd 4,000& 13024 520

s BM 4,390

s 13 9,300& *300A 2,790

-2ls 28 2,000& 8002 1,600

oY B2 MEZA 21,000

ZEIEA 1,000& *20,0004 20,000

Sdict & ASS 1,000&+1,000A 1,000

E BAH16T) 32,780

SEHA 710&+10,0004 7,100

O =& At 350& *3,500A 1,225

s HLBA 2,870&+50 144

A M 800& x150A 120

-STD &E S A 1,000& #2,400A 2,400

SNAY ZA 200& 3004 60

=EHA 2,000&+120A 240

AEHAAM 2703 1504 41

2t H AL 2,550& 2001 510

- S 2 AL 6,000& 150 900

- 2ct0ICI ot At 5,500& *2,400H 13,200

-HOLSal AHISE A 3,500& +500A 1,750

SZUdAHEZ A 700& x700A 490

B H A 1,000&+1,000A 1,000

0l Ol =& Al 2,000& *1,8004 3,600

BrA2&EE 2 A 6,000&*1,500 9,000

OdadgeldA 2428 P2 1,262

- YES 6,600&*70= 462

1218 |FEFADI 100& *8, 0007H 800
405 KHoHHE =H| 7,500 16,440 A8,940
01 A =SSFHSHI 7,500 16,440 8,940

OZAtA MIsHE 7 3,000,000& = 1CH 3,000
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M oA SW
Ciol: BAA 29 (crel:®e)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SEEYEFIETY 4,500,000+ 1CH 4,500
BHS AP (B2A2) 293,030 272,362 20,668
ol e 214,742 211,043 3,699
ol e 214,742 211,043 3,699
101 @124t 205, 142 202,603 2,539
08 JIEtE % 205, 142 202,603 2,539
O22A4 MAH A of At 205, 142
Lol 130,957
- b2 (918 Jtotete, CHasA)
(43, 189,0009! * 12 )+(43,884,0002! * 124 ) 87,073
-LIS(9E O aEtd)
43,884,0002! %1% 43,884
=LY 2,160
- Xt 40,0002 *3% » 122 1,440
- JIE 20,0008 3% * 12 720
oYL LY 42,816
-2
(1,295,0002 12«12 )+(1,300, 0008 * 1% »
128) 31,140
-ua 973,000 * 12 » 122 11,676
=22 4| 7,482
- HoZ Al 130,000 +3% * 128 4,680
- o1 Db2 A 130,957, 0002 «70%«11/360 2,802
N2 XY 12,600
L= 40,0009 x2Z * 128 9,600
- L3 250, 0002 * 12 122 3,000
ENEEEE 9,127
-2
(8,360 %124 x30A1 2% 128 )+(8, 49591 12 +3
OAIRHx122) 6,068
= 8,495%1 12 +30A| 2t* 12 3,059
203 PRETH| 9,600 8,440 1,160
01 JIASIYRETY| 3,000 3,000 0
OJI2ePYR =] 3,000,000 3,000
02 FAINAREXY] 1,680 1,408 272
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EEEETICEP
o121 2 ot b (19 &
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
OZ A ARF A 1,680,000 1,680
04 RBEN2IYRFLYI 4,920 4,032 888
OFA2LLRFEHI 4,920,000& 4,920
=23l 78,288 61,319 16,969
=2l 78,288 61,319 16,969
201 Lt 46,588 48,879 A2,291
01 At 2eld] 38,488 33,219 5,269
OF=ESE=) 50,0003 x2H x115 11,500
Ofld=E 2 15,000& *40Y 600
OFRMSE=EH| 14,040,000& 14,040
OJl2gesd gl 12,348,000& 12,348
02 ==29gHl 8,100 15,660 AT,560
OsUEANEZ 45,0003 x 123 »2H 1,080
o=RE=z 4,500,000& 4,500
OEAHIBEANLE FANE= 840,000 x3& 2,520
202 Oidl 12,200 10,320 1,880
01 3LUAbI 12,200 10,320 1,880
A 2AA=SH I 5,000, 000& 5,000
O2A JI2Z =3 Ol
200,000& *3H x12& 7,200
405 XHAHH SHI 19,500 2,120 17,380
01 TR EEFHSHI 19,500 2,120 17,380
OBHEFZAAY HFEH 2 19,500
= Al 1,000,000 *15CH 15,000
- 2LIE (172X LCD) 300,000& = 15CH 4,500




